
Subject: Re: AW:  Re: vzsplit question
Posted by vaverin on Wed, 05 Dec 2007 06:38:39 GMT
View Forum Message <> Reply to Message

it looks like problem is here:

 390         privvm = guarpg * k_privvm[sl];
 391         if (privvm > PRIVVM_PVE * mem_total) {
 392                 privvm = PRIVVM_PVE * mem_total;
 393                 guarpg = privvm;
  ^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^
 394         }
it is not recoomend to assign privvm for VE more than 60% RAM.
But I do not understand why this limit should increase guarpages.
At least it looks incorrect.

Thank you for bugreport,
Vasily Averin  
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